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Corrigé de l’exercice 1

Effectuer les conversions suivantes :

◮1. 2, 77 dam2 = 0, 027 7 hm2

◮2. 79, 8 dam2 = 7 980 m2

◮3. 2, 6 dam2 = 0, 026 hm2

◮4. 89, 3 dam2 = 0, 893 hm2

◮5. 2, 41 km2 = 241 hm2

◮6. 33, 4 dm2 = 0, 003 34 dam2

km2 hm2 dam2 m2 dm2 cm2 mm2

0, 0 2 7 7

7 9 8 0,

0, 0 2 6

0, 8 9 3

2 4 1,

0, 0 0 3 3 4

Corrigé de l’exercice 2

Effectuer les conversions suivantes :

◮1. 45, 9 dam2 = 4 590 m2

◮2. 29, 1 dam2 = 2 910 m2

◮3. 7, 41 dam2 = 0, 000 741 km2

◮4. 76, 2 m2 = 7 620 dm2

◮5. 2, 19 dam2 = 219 m2

◮6. 7, 9 dm2 = 0, 000 79 dam2

km2 hm2 dam2 m2 dm2 cm2 mm2

4 5 9 0,

2 9 1 0,

0, 0 0 0 7 4 1

7 6 2 0,

2 1 9,

0, 0 0 0 7 9

Corrigé de l’exercice 3

Effectuer les conversions suivantes :

◮1. 94, 3 km2 = 9 430 hm2

◮2. 8, 89 cm2 = 889 mm2

◮3. 73, 3 dam2 = 733 000 dm2

◮4. 97, 9 m2 = 9 790 dm2

◮5. 2, 78 hm2 = 27 800 m2

◮6. 43 dm2 = 430 000 mm2

km2 hm2 dam2 m2 dm2 cm2 mm2

9 4 3 0,

8 8 9,

7 3 3 0 0 0,

9 7 9 0,

2 7 8 0 0,

4 3 0 0 0 0,

Corrigé de l’exercice 4

Effectuer les conversions suivantes :
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◮1. 2, 34 dm2 = 234 cm2

◮2. 3, 37 dm2 = 0, 000 337 dam2

◮3. 48, 2 hm2 = 4 820 dam2

◮4. 5, 56 cm2 = 0, 055 6 dm2

◮5. 8, 08 hm2 = 808 dam2

◮6. 6, 43 m2 = 64 300 cm2

km2 hm2 dam2 m2 dm2 cm2 mm2

2 3 4,

0, 0 0 0 3 3 7

4 8 2 0,

0, 0 5 5 6

8 0 8,

6 4 3 0 0,

Corrigé de l’exercice 5

Effectuer les conversions suivantes :

◮1. 40, 9 km2 = 409 000 dam2

◮2. 2, 34 m2 = 234 dm2

◮3. 7, 52 hm2 = 752 dam2

◮4. 3, 61 km2 = 36 100 dam2

◮5. 8, 56 hm2 = 85 600 m2

◮6. 35, 6 cm2 = 3 560 mm2

km2 hm2 dam2 m2 dm2 cm2 mm2

4 0 9 0 0 0,

2 3 4,

7 5 2,

3 6 1 0 0,

8 5 6 0 0,

3 5 6 0,

Corrigé de l’exercice 6

Effectuer les conversions suivantes :

◮1. 7, 5 dm2 = 0, 000 75 dam2

◮2. 3, 38 dm2 = 0, 000 338 dam2

◮3. 9, 48 dm2 = 948 cm2

◮4. 83, 2 cm2 = 0, 832 dm2

◮5. 66, 7 dm2 = 0, 006 67 dam2

◮6. 67 hm2 = 6 700 dam2

km2 hm2 dam2 m2 dm2 cm2 mm2

0, 0 0 0 7 5

0, 0 0 0 3 3 8

9 4 8,

0, 8 3 2

0, 0 0 6 6 7

6 7 0 0,

Corrigé de l’exercice 7

Effectuer les conversions suivantes :
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◮1. 1, 2 dm2 = 120 cm2

◮2. 6, 35 dam2 = 63 500 dm2

◮3. 99, 8 m2 = 0, 998 dam2

◮4. 4, 61 hm2 = 46 100 m2

◮5. 7, 06 dam2 = 706 m2

◮6. 6, 9 hm2 = 69 000 m2

km2 hm2 dam2 m2 dm2 cm2 mm2

1 2 0,

6 3 5 0 0,

0, 9 9 8

4 6 1 0 0,

7 0 6,

6 9 0 0 0,
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